MAT 202, Quiz #5, Fall 2

Instructions: Show all w
be done in the calculato

1. AmatrixAis 3
the following usi
a.

b.

L2

o

o

The determinant of the resulting matrix formed from per

det(AB) (
det(4%)

det(—4BT)

R, = R, on matrix B.
det(B™1)

For the vectors i

016

X 3 and det(4) = —2, and another 3 x 3 ma

Name

KEY

not specifically directed to. Be sure to com

ng properties of determinants.

2)(3) = - b

-2 (o

Eu)*(3) = -L4@) -

ork. Some problems will instruct you to complete operations by hand, some can
r. To show work on calculator problems, sh
resulting matrices. Give exact answers (ves, that means fractions, s
not decimals) unless spe‘cifically directed to give a decimal answer.
be done by hand even if

bW the commands you used, and the
(quare roots and exponentials, and
This will require some operations to
lete all parts of each question.

trix B has det(B) = 3. Find each of

S ]

forming the row operation 2R; —

3 - 1
11 5 0 1 s 1} ’
— = = f .
—|? 4 [V 5 , find the following
0 8 —7 .
b 6 Y
[ 7:t ] ol R T
- " 2
o -4 o
~10 -3 -9
) ~\ y )
=Y
20 3; 20
“o 12




